L E A R N   T O   R E A D   S C I E N C E

(грамматические упражнения)

Вып. 3

1. VARIOUS   FUNCTIONS   OF SINGLE   INFINITIVE

Pattern Study (13, 14, 15)

Pattern 13:
                  
To appreciate the present requires some historical perspective.

Pattern 14:

                  
To appreciate the present try to look at it in historical perspective.

Pattern 15:
                  
(In order) to appreciate the present, one must have some historical

                     perspective.

                     To be a successful scientist, one must possess certain characteristic

                     qualities. To begin with, one must be curious about the world around         

                     him.

Pattern Vocabulary (15.2).   List 6

	to begin with;
	to put it briefly;

	to conclude;
	to put it another way;

	to generalize;
	to say nothing of;

	to illustrate;
	so to say;

	to make a long story short;
	to sum up;

	to mention;
	to take an example; 

	not to mention;
	to tell the truth:


Pattern Practice (13-15)


1. To make a choice between these two alternatives is not an easy task. 2. To be on the safe side, take special care of the accuracy of the calculation. 3. To foresee what the future will be like requires analysis of the past experience. 4. To tell the truth, the results have no direct bearing on the problem under investigation. 

5. To argue about it is not fruitful at the moment. 6. To establish cause effect relationship between smoking and some diseases, extensive research is being carried on at several research canters. 7. To sum up, synthetic problems are studied for the possibilities which they hold for practical applications. 8. To put it another way, the experimental procedure must suit the purpose of the experiment. 9. To be able to forecast the future, we must begin by a thorough analysis of the past course of event.


1. Для того чтобы соответствовать цели эксперимента, метод должен быть прост. 2. Установить причинно-следственные отношения часто означает решить проблему. 3. Предвидеть будущее невозможно без анализа прошлого. 4. Говоря по правде, все ожидали совершенно других результатов. 5. Сделать выбор бывает самым трудным. 6. Чтобы не рисковать, проверьте аппаратуру перед экспериментом еще раз.

Pattern Study (16)

Pattern 16:
1) A pure scientist wants to establish the underlying relationship of 

the events observed.

2) The book has been written (so as/in order) to review recent 

developments in this area of research.

3) These advanced concepts have been immediately applied to 

practice, to give rise to a new branch of technology.

Pattern Vocabulary (16.3).   List 7.

to bring about

to give

to give rise to

to form

to produce

to yield

Pattern Practice (16)


1. The analysis has been extended (so as) to take into consideration the unavoidable by-effects. 2. Two hydrogen atoms combine to form a hydrogen molecule. 3. Under this assumption the equation is reduced to yield a classical relation. 4. We do not expect to solve all these problems by the turn of the century. 5. The new substance readily reacts with alkali metals to give rise to alloys with predetermined characteristics. 6. At this stage a new theory was advanced to produce a revolutionary change in our understanding of the process.


1. They claim to have accounted for the effect observed. 2. He admits to have made a similar mistake in his earlier publication. 3. He was sorry to have occupied himself with the problem for so long, and not to have given it up earlier. 4. They admit to have been informed of this possibility before the experiment. 5. Mark  Twain allegedly remarked once that a classic is something which nobody wants to read but everybody wants to have read. 6. To write with precision, it is necessary to have thought logically first.

Pattern Study (17)

Pattern 17:
                 
1) The traditional question behind the research is: ”How is this to be

                         explained?” or ”How are we to explain this?” – ”How can this be 

                         explained” or ”How must (can) we explain this?”

                    2) The primary task of the laboratory head is to provide conditions 

                         favorable for experimentation (…the task consist in providing…).

Pattern Practice (17)


A. The aim of our seminars; the purpose of the book; the task of the research group; the procedure; one important thing; we; the research group.


B. Is; are; was; were.


C. To point out general tendencies; to review recent developments in the field; to take into consideration all the essential factors; to learn from the past experience; to suggest some fresh ideas for research; to develop a special apparatus suited for the experiment; to tackle the problem of ocean exploitation.

Pattern Vocabulary (18). List 10

A). enough – достаточно

     Sufficient(ly) – достаточный (о)

     So … (as) – настолько … (что)

     Such … (as) … - такой …. (что)

B). too – слишком

Pattern Practice (18)

1. The consequences might be so disastrous  as to exceed anything imaginable.

2. His story of the past is too personal to have any bearing on other people’s experience.

3. The advantages of such an approach are evident enough to be taken into account.

4. The experiment produced enough evidence to support the interpretation suggested.

5. The failure of the project was such as to discourage further efforts for many a year.

6. The information available was not sufficient to contribute to the clarification of the problem.

7. The assumption is reasonable enough to be valid.

1. Translate into English:

2. Предположение было слишком неожиданным, чтобы его можно было принять без доказательств.

3. Идеи слишком опережают свое время, чтобы их можно было сразу же принять.

4. Аргументы представляются достаточно разумными, чтобы изменить ход обсуждения.

5. Данных было недостаточно, чтобы внести ясность в эту проблему.

6. Это предложение не так важно, чтобы его рассматривать на сегодняшнем заседании.

Reading Practice (Patterns 13-18)

To speculate about the future is one of the most basic qualities of man. It involves two aspects: one is to forecast what the future development will be and the other is to determine in what approximate period of time it is going to take place. To make such a prognosis means to learn from the past experience and to extrapolate the knowledge into the future. Recently,  however, the rate of change has been so great as to make it difficult to learn from experience, at prediction of man’s possible landing on the Moon around the turn of the century was made as late as 1961, only 8 years before the actual event! So, to be on the safe side, we had better leave time to take care of itself, and concentrate our attention on what the future may be like.

There is yet another problem involved: are we to accept submissively any possible course of events, or are we to work for a future most suited for most people? The choice is to be made, at different levels, by every individual and by every society.

Pattern Revision (13-18)

1. What we try to do is to foretell a general tendency rather than a particular development.

2. The subject is fascinating enough to suggest itself for a wide discussion by people engaged in different research areas. 

3. The aim of the book is to present the case for an extensive study of this complicated phenomenon.

4. The factor is important enough to be taken into consideration.

5. To tackle such a problem with any of the techniques available before the advent of the computer would have been pointless.

6. To conclude, a definite science politics is needed if the development of science is to favor the best interests of the country.

7. It is generally accepted that no outstandingly new or revolutionary theoretical concept in physics can be invented by anyone over the age of 25; by that age one’s ideas are already too solidified to permit imagination to triumph over rationality.

8. The definition was severely criticized, to give rise to a long and heated argument on the pages of some journals.

9. To appreciate the accuracy of the data, refer to Table 1.

10. This book is a first-rate introduction to the nature and methods of scientific thought, to say nothing of its remarkably clear style. It is an ideal book for a fresher, as to follow the author no knowledge of science is needed.

11. To avoid making mistakes is always very difficult, because, to begin with, to err is human. 

12. Some mathematicians  have alienated mathematics from the rest of human culture, to bring it to the danger of becoming sterile.

13. He admitted to have oversimplified the problem, but his only excuse was that it was too complicated to be tackled directly.

Translate into English:

1. Этот фактор слишком важен, чтобы не принять его во внимание.

2. Если мы хотим добиться цели, мы должны учесть также фактор времени.

3. Цель книги заключается в том, чтобы представить все доводы в пользу этих исследований.

4. Эта идея достаточно очевидна и сама собой напрашивается.

5. Извлекать уроки из прошлого опыта не так просто, как это может показаться.

6. Он был остаточно сильной личностью, чтобы преодолеть сопротивление своих коллег.

7. Чтобы по достоинству оценить значение этого эксперимента, необходимо сравнить его с остальными работами в этой области.

8. Избежать ошибок, как правило, очень трудно.

Pattern Study (19)

P a t t e r n   19:

The technique of collecting information will differ according to the problem to b solved. = The technique of collecting information will differ according to the problem which is to (can/must/will) be solved. 

1. What are the lessons to be learned?

2. This is not an opportunity to be thrown away.

3. An interesting distinction to be made here is between problems and techniques.

4. Another factor to be taken into consideration is the power of modern experimental techniques.

5. The rate of our knowledge growth will surely increase in the years to come.

6. Give me but one firm spot to stand on and I will move the earth.

Give English equivalents of: 

1. Проблема, которую надо решить

2. Фактор, который надо принять во внимание

3. Задачи, которые стоят перед нами сегодня

4. Сложности, которые необходимо распутать

5. Грядущие года

Give Russian equivalents of:

1. the data analysed – the data to be analysed

2. the lessons learned – the lessons to be learned

3. the choice made – the choice to be made 

4. the factor taken into consideration – the factor to be take into consideration

5. a distinction made – a distinction to be made 

Оборот for + существительное/местоимение + инфинитив

1. It was necessary for him to return immediately.

2. There is no reason for us to change the terms of payment.

3. There is no time for them to examine the specimens that day.

4. It is too late for you to go there.

5. Вам необходимо быть здесь завтра в 5 часов.

6. Нам трудно выполнить работу в такой короткий срок.

7. Вашей сестре необходимо повидать его.

8. Ей очень трудно перевести эту статью.

9. Текст был слишком трудный, чтобы он мог перевести его без словаря.

10. Сейчас слишком поздно, чтобы дети шли гулять.

11. Нам очень трудно получить эти сведения.

12. Необходимо, чтобы документы были отосланы сегодня.

13. Сегодня достаточно тепло, чтобы он шел в школу без пальто.

14. Очень важно, чтобы он получил документы на этой неделе.

15. Ему очень легко сделать эту работу.

16. Нам необходимо увидеть его сегодня.

17. Чемодан слишком тяжелый, чтобы она могла нести его.

2. INFINITIVE CONSTRUCTIONS EQVIVALENT TO CLAUSES

Pattern Study (20)

Pattern 20:
                 
Most scientist expect major development in the near future to take

                    place in biology.

                    It is some times very difficult to make people see your point.

Pattern Vocabulary (20).   List 9.

1. Verbs of mental and sensual perception and estimation:

a)

	   To assume
	to know

	   To believe  
	to like

	   To consider
	to prove

	   To estimate
	to regard as

	   To expect 
	to show

	   To find
	to suppose

	   To hate
	to take

	   To hold
	to think


b)

   to feel

   to hear

   to see

   to watch

2. Verbs of causation and initiation:

	to allow
	to have

	to cause
	to make

	to enable
	to permit

	to force
	to require

	to get
	to want


Pattern Practice (20)


1. One can assume this to be self-evident. 2. One can expect the scope of research to expand steadily. 3. Most people believe the amount of effort in science to be  somehow correlated with the standard of living in the country. 4. Nowadays we see many new areas of research come into being  as a result of unexpected breakthroughs. 5. One can watch more and more people move into biology from other areas of research. 6. The present-day situation forces more and more countries to start contributing to this field of research. 7. An efficient laboratory head always knows how to get his people to do their work properly and on time. 8. If one is really interested in science, one does not like any problem, however difficult, to be left unsolved. 9. Most scientist regard biology rather than physics, as the likely central ground of scientific advance in the near future. 10. One will naturally think such course of events (to be) disastrous not only for the future of mankind. 11. One of the major problems at present for a university is to have young people interested in long-range problems. 12. One can hardly tolerate one’s ideas being criticized without an attempt to defend them. 13. Assuming this to have direct bearing on the future of man, the author goes into a detailed analysis of the present status of science  and scientists in advanced countries. 14. The author’s major concern is to make the reader realize the full implications of genetic engineering. 15. He achieves his aim by having the reader follow his story of this new area of research from its early days up to now. 

To begin with, we expect a successful scientist to be full of curiosity – he wants to find out how and why the universe works. He usually directs his attention towards problems which have no satisfactory explanation, and his curiosity makes him look for the underlying relationships even if the data to be analysed are not apparently interrelated. He is a good observer, accurate, patient and objective. Furthermore, he is not only critical of the work of others, but also of his own, since he knows man to be the least reliable of scientific instruments.


And to conclude, he is to be highly imaginative since he often looks for data which are not only complex, but also incomplete.


1. What qualities do we expect to find in a successful scientist? 2. Why do we say that a successful scientist is full of curiosity? 3. Why is it difficult to see the underlying relationships? 4. Why is he critical of his own work? 5. Why is it necessary for him to be highly imaginative? 6. Give a Russian equivalent of the title and of the data analysed and to be analysed.

Pattern Revision (19, 20)


1. What  enabled the scientist to do so well with this disastrous situation? 2. They could not tolerate other people taking up the problem which they had been investigating for so long. 3. At that time the project, later to be taken over by another laboratory, was still in progress. 4. After a long discussion and argument they still could not agree as to what might be the best way to provide an atmosphere necessary for research . 5. He was always the first to take up a complicated problem and the last to give it up. 6. It is highly desirable to get these values checked before another series of experiments. 7. Instead of having astronomers watch the stars go around each other, why can we not take a ball of lead and a marble and watch the marble go toward the ball of lead? 8. The first section of each article will be devoted to a short summary of the history of the problem, to be followed by a review of the modern advance. 9. Philosophy is a distinct science with its own clearly defined subject matter to be studied in the same specific way as that of any other science. 10. On assuming the body with the mass M to be acted upon by force F, let us calculate acceleration. 11. Later we find Shakespeare using this style in prose dialogue; sometimes merely in caricature, but at other times quite seriously. 12. An important point to be dealt with in the next chapter is different techniques of data-processing. 13. It is sometimes very difficult to get people to agree upon most obvious things, although the things to be agreed upon may be generally accepted as urgent. 14. One can hardly expect a true scientist to keep within the limits of one narrow long-established field, leaving most fascinating problems to be found on the frontiers, out of the scope of his inquiry. 15. Good management means getting things done rather than doing things. 

16. This amounts to assuming the rate of knowledge grouth to depend on the amount of knowledge already accumulated. 17. It is time to pause at this stage of the story to have the reader realize its significance for the evolution of physical thinking. 18. At that time the scientist reported to have observed an unusual luminescence during his experiments with cathode tubes.


1. Большинство ученых ожидает, что в ближайшие годы молекулярная биология сделает новые успехи. 2. Мы не смогли заставить его согласиться на изменения условий эксперимента. 3. Ваш руководитель хочет, чтобы вы сосредоточили свое внимание на одной задаче. 4. Я не ожидаю, что он извлечет из этого урок. 5. Он всегда первый берется за такие проблемы. 

6. Желательно, чтобы эти измерения были проведены до начала новой серии опытов. 7. Мы часто видим, как биологи заимствуют методы не только у физиков, но и у химиков.

Pattern Study   (21)

Pattern21:
                
There is an apparent tendency for science to become more and more

                     mathematical.

Pattern Practice   (21)

A. It is necessary; it is important; it is  often difficult; it is sometimes impossible.

B. Scientists; physics; a research center; us; physicists.

C. To occupy themselves with vital problems; to correlate theory with experiment; to foresee the implications of their research; to keep in touch with other fields; to guess what the future may be like.

1.  Мне трудно об этом спорить. 2. Им важно подкрепить теорию дополнительными экспериментальными данными. 3. Физикам важно поддерживать контакт с биологами. 4. Ребенку необходимо учиться на собственном опыте. 5. Нам часто трудно угадать, каким будет будущее. 6. Естественно, что на такой анализ затрачивается около года.7. Необходимо, чтобы реакция была ускорена. 8. Чтобы две молекулы вступили в реакцию, они должны столкнуться.

1. This decision reflects a desire to make it as easy as possible for members of the association and other guests to attend the congress. For such a large research center as this to become heavily involved in a single project in a fashionable field would be more than just a wrong practice, it would be a disaster. 3. The tendency for pure mathematicians to alienate mathematical research from anything that might be somehow associated with the idea of  ”utilization” is only too obvious. 4. For any scientific gathering to be a success, the organizing committee must be firm on more than one point. 5. There was a prevalent feeling at that time that for the laboratory to revive its past glory no efforts were intensive enough. 6. With so many people working in the same field, it is enough to come across something new and remark it, for a crowd of other researchers to appear from every side to work the thing out before you have had time to reflect on your finding in peace.

Pattern Study   (22)

Pattern 22:
                 
Nowadays science is known to contribute to every aspect of man’s 

                     life. – It is known that nowadays science contributes to every aspect 

of man’s life.

With the advent of nuclear weapon some people seemed to be disappointed in science. – With the advent of nuclear weapon it seemed that some people were disappointed in science.

Molecular biology is likely to dominate science in the years to come. – It is likely that molecular biology will dominate science in the years to come.

Reading Practice (Pattern 21-22)

”WOULD   YOU   LIKE   YOUR   SON   OR   DAUGHTER   TO   BECOME   A   SCIENTIST?   IF   SO,   IN WHAT   FIELD?”


The question were asked by the Literary Gazette and a British scientist was reported to answer as follows.


”I would not like my son or daughter to become a scientist of the kind typical in the world today. The development of science has already led to many undesirable consequences and is likely to lead to many more unless great effort is made to control the application of scientific discoveries. If , however,  science could be developed in a new way to become a meaningful social  activity, I would be glad to see my son or daughter doing science.


So far as the field is concerned< I think there will be a growing tendency for scientists to occupy themselves with problems which affect fairly directly the lives of people. There seems to exist a great need to develop science which deals specially with the problems of how the applications of science affect man. To cite but a few examples, there are such problems as urban development, education and, of course, the prevention of war. If the new knowledge about the world is used for the benefit of man, rather than for death and destruction, the human race can continue to benefit from science for centuries to come.


1. What can you say about the form of the text and the title? 2. Is the answer to the Ist question ”yes” or ”no”? 3. What are the author’s reasons for this answer? 

4. under what condition would the answer be different? 5. Does the author indicate any specific science in his answer to the 2nd question? 6. What problems are considered by the author to be worth studying? Why? 7. What is necessary for science to remain beneficial for people?

Pattern Revision (21-22)


1. In the first place, this model of our own brain operation appears to be self-consistent – as it was designed to be. 2. The half-life period is the number of seconds for the radioactivity to fall to half its original value, i.e. for half the atoms to break up. 3. There are indications that various elements in addition to those found to be essential are beneficial to the growth of many plants. 4. The question whether the atom can or cannot be split up is known to have interested scientists from ancient times. 5. This assumption known to be invalid in some cases, may be expected to give useful results for the conditions stated. 6. These stars are much too remote for the astronomer to be able to solve the problem with the tools now available. 7. At that time it seemed that the research could be counted upon as leading to a better understanding of the process. 8. An illness unlikely to be identified at early stages manifests great danger to people. 9. Some experiments prove that it is physically possible for the ground ice of Alaska to have been formed by a process of segregation. 10. He does not seem to have attempted to set up a model to connect this strange behavior with the previous observations. 11. The book was designed as a kind of platform to provide an opportunity for prominent speakers to represent their respective fields of science. 12. The origin of the difficult is easily seen as resulting from summation of the diagrams. 13. This period of  cataclysmic bombardment seems to have been widespread throughout the solar system. 14. Under what conditions will the reaction proceed rapidly enough for the method to be practicable? 15. Knowing this theory to be inadequate, he suggested that it should be modified to be brought into better agreement with the observed facts.


1. Весьма вероятно, что биология займет доминирующее положение среди остальных наук. 2. Считается, что он представляет мнение большинства ученых. 3. Говорят, что он внес определенный вклад в решение этой проблемы. 4. Им не так-то просто было следовать этому правилу. 

5. Кажется, он полностью потерял интерес к этой проблеме. 6. Нам необходимо поддерживать контакт с этой лабораторией. 7. Им было важно  создать благоприятные условия для продолжения опытов. 8. Мне трудно угадать, каким будет результат.

General Revision (Pattern 13-22)


1. To find the length of an abject, we have to perform certain physical operations. 2. To begin with, our nervous systems are extremely imperfect, and we see things only in terms of our training and interests. 3. To put it another way, inventions seem to appear at times when societies need them. 4. There is an English saying that Satan will always find some work for idle hands to do. 5. There is a need for scientists to be more closely in touch with the community as a whole. 

6. To say that poetry is sponsored, however, is not to say that it is necessarily bad.

7. To illustrate, Virgil  had a sponsor and was working under assignment … the fulfilment of  his assignment turned out to be a great poem. 8. These decisions are simply the only sensible ones to make under the circumstances. 9. For a man’s life to be thoroughly satisfactory there has to be some underlying conviction about life itself. 10. The only way to avoid this is to keep definition to a minimum. 11. Not to  observe, consciously or unconsciously, such principles of interpretation is to think and react in primitive and infantile ways. 12. It is a completely wrong, and unfortunately common, practice to have students memorise long lists of foreign language words. 13. To understand the great reactivity of free radicals it is necessary to understand first why electrons pair to form the normal two-electron bond. 14. Even Chinese, which was cited as such a primitive language, was discovered to have possessed some inflection in its early history. As for ”primitive languages”, they have been show to exhibit all types of structures found in any language spoken by ”civilized people”.  15. For a patient to remove his own appendix under a local anaesthetic may be physically possible, but the practice is regarded with disfavour. 16. Another possible cause of slow reading is the common practice in English-as-a-second-language classes of having the students read aloud. 17. Finally, aging itself has been postulated to involve random, destructive reaction by radicals present in the body. 18. The availability of much heavier ions with sufficient energy to produce nuclear reactions, however, introduce an important new class of phenomena for consideration. 19. It would not be wise for any parent to dictate what field his child should enter for his life career. 

20. the electric Coulomo force between the particles is very effective and accelerates the particles, causing them to be deflected through large angles. 21. The paper too short to cover the period of the last ten years in crystal physics still deserves some attention. 22. A good manager always knows how to get people to do what they are expected to do properly and on time without having them feel uneasy.

REVISE   IF   YOU   FORGET


Some people think that whatever is done in a research laboratory is sure to result in something useful. Yet every scientist knows how difficult it is to produce results of some practical value. So far no attempt has been made to work out a procedure to help us know in advance whether the output of a research may find any application somewhere some day. No scientist is quite certain, when he starts the work, of what he is going to have at the end. It happens only too often that the end product has nothing to do with what he expected. However, no effort is ever wasted altogether. One can paraphrase the English saying ”no news is good news” and say that ”no positive result is also a result”, sometimes even a better one than anything that was expected.

